Jdn, do [GeV]}

sum
T

{(1/Nevents) d p

Ratio to CDF

1960 GeV ppbar Underlying Event
L L B B I ! LI I L

B L L L B L B B B [ []

B Average Z(p ) vs p'fad (p, > 0.5 GeV, h < 0.8) :
3~ = CDF —
. —&— Pythia 8.212 default —

[ —*— Pythia 8.212 default-noCR ]
25— ]
2 — ]
1.5 — —
e -

| N _

0.5 — ]
Ia) _. I A R B | e | e | | | | | []
— ' ' ' [ ' ' ' ' [ ' ' ' ' [ 1

2 & -
B /L\ * /l\ ] / B

L 2IO
(P [GeV]}

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


